IN—ARFT 2 —TFHNITERN(FHRAE)
P ] .
(AN FEP
BHEEES EHES
A H i3 A =] E-mai |
F#A8 3 A =] AB(KA) % BB
B4k R R R - Fik =) AN (F) % £
© THEXHNB-BMA=a— - HYE - (TEXODHRBEZRATSLY B A
AZa— Hi{f (1 A8 A & %
1 |EEFa3—XAa—X (AIX150g) 2,700
2 |ZBEEa—2Z2Ba—X (AI1EX180g) 2,900
3 [Ex4Ea—RCa—X (AIX220g) 3,500
4 |—2J—Fa—X 2,900
5 |EBMmA=a—(FiEENCEt)
6 [ka (FEEDDED
BEitEH
C OBMA=1—0IERNE @I B4 A (FiA) _
A= 1— E B= Fl
1 |EEF (Tkg) 10,000
2 [Zw4 (kg) 14,000
3 |[mEn—x (1kg) 4,800
4 |+&)LE> (500g) 1,300
5 |4 v—t—2 (10FK) 800
6 |BI=FY QBEAY/YY) 250
1 18v9 54 Z(180g) 220
8 |gE=ZIEty +(1AHD 400
9 |Z)L—Y(2,500mLLL)
SEEE. .. .. C
D OMAMHDZEMRN & MK B[ (Fd)
R B i % = 2 &8
1 |BEIEDVHYT 400
2 |BBEIFHNRVY 2,700
3 |E—ILE& (350ml) 400
4 |£E—LE 2Uwv k) 2,500
5 |[£E—1L (101 kJL, Y—/\—{FZF) 11,000
6 |WEEEZES  (900ml) 2,100
T |BEELWE C (900ml) 2,100
8 |BEEFaI/NA 380
9 [&/NaAR—1 (350m1) 400
10 [AFL>o2a—x (1.51) 470
11 |—a % (2.01) 470
12 [3—35 (1.51) 470
13 [RAryzrTwyr (1.51) 470
14 |83 (2.01) 470
15 [5k (1kg) 1 Ft A 400
16 [/ >7)ILa—ILE—IL 380
17 |R#AK (2.01) 400
18 |REEK (500m 1) 200
SEHEE. .. .. D

RKEBEKRICHREW

2025 06012k

HATE, BEHRICHLTEMETIFARAIBEL EISBHTEYVES, IXNTITFHICIYITHA BoTHY
i?’@’cigﬁbﬁkﬁ%%@%%i&ﬁ:‘*UFHI?I LBADREICEY., BHYLTEYE 0T ZHASHEL
LJ:(-f o



